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Q.1: Oliidell Gluz) dawdll 2ilig wpall @il Wiscls plasiwl-P2 Mark(s): 0/5

Find the derivative of the function AN ddiéa ol
h(x) = (x* + 7)(x — 3). h(x) = (2 +7)(x—3)

Learning Outcomes Covered ;

o MAT.6.02.01.004

h'(x)=(2x)(3—x)+ (x*+7)(—1)

h'(x)=2x)(x—3)+ (x*+7)(1)




C.

h'(x)=2x)(x+3)+ (x*—7)(1)

| h'(x) = (—2x)(x — 3) + (7 — x*)(1)




Q.2: dwibos>| dwlyy dlac]-P1 Mark(s): 0/3

Which survey question is unbiased? e i) gﬁ Jaaial) e Jd) L

Learning Outcomes Covered

o MAT.4.02.09.002

Pl o gliai ) L) L

What toppings do you prefer on your pizza?

Cod Sl pah (pa Juadl el anda o g Y

Don’t you think that carrots taste better than celery?




Salaal) Auiiligh DEY) af A3 giiall Al U BaaLin Juadi Ja
Do you prefer watching exciting action movies or boring

documentaries?

i) ) agalad dio DUl A8 i by (3155 Y

Don’t you agree that students should carpool to school?




Q.3: 45)Kulg dubdll OVl o Jugxil-P2 Mark(s): 5/5

Write the equation in polar form. Auadl) ) gualls dlalaal) us)
(x+2)2+y*=4 (x+2)2+y> =4

Learning Outcomes Covered

o MAT.2.02.27.004

r=acoso







Q.4: JolSilly Juolaill dpwluwll & il plaziwl-P2 Mark(s): 5/5

Evaluate _j'lz 4 x3dx. : flz 4 x° dx dad 29

Learning Outcomes Covered

o MAT.6.03.01.004







Q.5: WJlai>l &1jed cliil-P2 Mark(s): 0/5

Which random variable is laia Lilgde e s duf)gdall & puaial) ggi

a continuous variable?

Learning Outcomes Covered

o MAT.4.02.09.005

daalil) Gald) Chua b (DU sk

the height of students in a gym class

the number of books sold at a yard sale




gl Jale lalall Al cladikd) e

the number of calls received by an operator

| Jue lganud Al clygall axe

the number of laps that Manal swims




Q.6: Slwlyal glgil 2axig Cninai-P1 Mark(s): 0/3

Which situation describes fhupl Clay (o) sl Lo

an experiment?

Learning Outcomes Covered

o MAT.4.02.09.001

) alad) A lgudae s AN Y £o8 il ) dassd Ladsw a7

Aladal) agadldl (o angllug dihial) \Su (e Ladd 50 clidiul |ghldg
A retro movie theater wants to determine what genre of movies to
play during the next year. They plan to poll 50 random area

residents and ask them what their favorite movies are.



sha) Ll cand) giila lggales AN At )l) JSLaAN daal cfluad) Balial duijde i3
pdglag LAY O g an (ae Lilgde Ladl 30 Jgaaldy .5aLa1 Las)
A driving school wants to determine the main issue drivers face v

while taking the driving test. They watch and record 30 random

people taking the test.

a gl Glilaws cilS 1) Le waad Jal (e (olee dis 50 JLEAY Gudigal) aaf Jakads
(SAYY L) S8 Adla i Basal)
An engineer is planning to test 50 metal samples to determine
whether a new titanium alloy has a higher strength than

a different alloy.



5 agilklad ali agla cull of Lilpde eDlaad) JLIA \gad a3 dups Al jaia Gl
Gull (2 pgis

A grocery store conducts a study in which customers are

randomly selected and asked to provide feedback on their

shopping experience.




Mark(s): 3/3

Q.7: dbpwdl dubdll SVslsal) (Wbl Juiledl-P1
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Q.8: bl &1 jgil (izie 1z dnblgll dluall 3layl-P2

Khmais commutes 290 km each
week for work. His car averages

29. 6 km per liter with a standard
deviation of 5.4 km/L. Assume that
the data are normally distributed.

For what percentage of Khmais’s

Learning Outcomes Covered

o MAT.4.03.04.001

Egwid JS 290 Km Adlosa usad dlou
Jilia 29. 6 Km 48luis 43w adadig . Janll
Sl )aily 3589l (e Aslgind il Jo
5.4 Kkm/L sl

QPN & <) bl of Gl
lglal (e (A usad R (e duglal) ducdl) La

Ca T | s T | £ - & - A LT LI

Mark(s): 0/5






Q.9: dlgi Wi aic Jlgal Oblgi yad5-P2 Mark(s): 0/5

Estimate lim e* |if it exists. asag o lim e* &

X—>—00 X——00

Learning Outcomes Covered

o MAT.6.01.02.002




Bagage &
does not exist




Q.10: dbuwgiall dg=iall depull Sl -P1 Mark(s): 0/3

>

The number of words w a person e adld lguis g:i.ﬂ W aleld) aae ala) o
has typed after t minutes is given by IMA (e ddida £
w(t) =t* +2t. w(t) = t% + 2t
What was the average number of ga oaddd) lgiS Al clalsl) sae Jawgia 3y oS
words per minute the person typed Saag)yl)g Axilil) ABBal) s La 8,581 qa ag.8.:1)

between the second and fourth

minute?

£

Learning Outcomes Covered

o MAT.6.02.01.002







Q11: guSslly duhill 8)gall Wl dgySall 8)gall o @Syell dlacll Jy g=i-P2 Mark(s): 0/5

Find the absolute value of the S pal) adell ddllagl) Aaidl) Aagl
complex number. z=2+3i
z=2+3i

Learning Outcomes Covered

o MAT.2.02.27.005







Q.12: bl g1jsill (izio Caz dsblgll d>bluall 3lzy)-P1 Mark(s): 3/3

In a normal distribution with mean I =63 bl g3 anbll asjsl 93
i = 63 and standard deviation Z dad L (0 = 3 Glaall Ci)aiV)g
=3 whatiszif X =667 X = 66 s 13

Learning Outcomes Covered

o MAT.4.03.04.001







Q.13: duwsSsll Olativedl dlu)-P1 Mark(s): 0/3

Find all antiderivatives for the function Aal! dacSal) cliiind) s 3l
f(x) = 3x°. J(x) = 3x°

Learning Outcomes Covered

o MAT.6.03.01.003

F(x) = 2x°+C

F(x) = 3x°+C







Q.14: pulaall Jio o wlus Gisb ge azll psill SVase slayl-P1 Mark(s): 0/3

Find an equation for the slope of the Al Slah) Jiaah Jaad dlalea 2 g
graph of the function y = x? + 4 Ahadi o) 2oy = x% + 4

at any point.

Learning Outcomes Covered

o MAT.6.02.01.001







Q.15: dlgi WI dic dgazll §)uiSg duidl JlgaJl Sllgi dous Slul-P1 Mark(s): 0/3

Evaluate lim x0+12x lim x0+12x s ]
Yoo 3x6+2x2+11x " oo 3x642x24+11x

Learning Outcomes Covered

o MAT.6.01.02.004







Q.16: 35220 blii aic JlgaJl Sllgi padi-P1 Mark(s): 0/3

>

Estimate lim f(x), using the graph oL Alall Jiatl) aladiuly ¢ lim2 fx) =

X>—2
below. y

Learning Outcomes Covered

o MAT.6.01.02.001







Q.17: SMubiwell plaziwl (xiedl G d>luall wuy y4i-P2 Mark(s): 0/5

Approximate the area of the shaded oliaf Adjall Akl ddhaial) dalie A
region for the function by using the Lol dalgdl) Jalds aladily
right endpoints. -l saaall paal) asddi)
Use the specified width for the
rectangles.
width = 1.0 'y 1'3 B .

Learning Outcomes Covered

o MAT.6.03.01.001

-






Q.18: dyylSyllg dulaill SliasYl gu Jyg=ill-P1 Mark(s): 3/3

Find the rectangular coordinates for P (Z_L—I) ddaill 4 Sul) cldfaay) aagl
the point P (ZE).

Learning Outcomes Covered

o MAT.2.02.27.003







Q.19: dball Ol3 Olebos¥l gaglis d) LSl Olsy jgill Jul=i-P2 Mark(s): 0/5

The table shows the probability Adileal AlaiaY) aaigill Jgaall s
distribution for a competition. 2B gal) dadd Lagl

Find the expected value.

Distribution of Prizes

no prize AED100 | AED50 | AED 25

Probability 0.84

0.01 005 | 010

Learning Outcomes Covered |

o MAT.4.02.09.006

b.
8 .







Q.20: 53220 blii dic 3g9azl 8yxiSy duid] Jlga)l Sllgi deus dlzyl-P2 Mark(s): 5/5

. Z_x—12 —x—
Evaluate lim i . Jim x*-x-12 2l
x—4 x—4 x—4 x—4

Learning Outcomes Covered

o MAT.6.01.02.003

ki o






